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MATH 201.1 (Term 111)

Quiz 1 (Sects. 10.1-4)

Duration: 20mn

ID number:

1.)(3pts)Find a Cartesian equation of the curve z = ¢ +5, y =e! + 2, { € R.
2.)(3pts)Find the equation of the tangent line to the curve = = 2 + 1, y = {* — 1,

3. )(4pts)Fmd all the points of intersection of the polar curves r = cos 26 — 1 ; and

at t=1).
r=—sin?0, ——’5<6’<"
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MATH 201.5 (Term 111)
Quiz 1 (Sects. 10.1-4) Duration: 20mn

Name: ID number:

1.)(3pts)Find a Cartesian equation of the curve z = In?f -+ 4, y==—2,t> 1.
2.)(3pts)Find the equation of the tangent line to the curve r — ef — t,y=c¢€'+t,
at t = (.

3.)(4pts)Find all the points of intersection of the polar curves r = cos2f and
r=sindf, 0< 6 <.
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